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Question:

洗練されたミニチュアの技術
Advanced Technology of “Miniature”

Q-VZθ-19

【Example of the structure for Belt Drive type Actuator】

What does it mean of "Reduction ratio is 1/2" for Hybrid type and Belt Drive type Actuator? 

The number of teeth of the pulley on the Ball Screw Nut or the 

Ball Spline Nut is 2 times larger than the pulley on the Motor 

side, so that if it is assumed the torque and revolution of the 

Motor side pulley as 1, the revolution of the Ball Screw Nut 

and the Ball Spline Nut pulley becomes 1/2 and its torque 

becomes double.（2 times larger）

They are fitted in belt and pulley mechanism to drive the Ball Screw Nut and the Ball Spline 
Nut, so that they are reduced its speed by belt and pulley. 
※Hybrid Drive type used belt and pulley mechanism only for Z axis linear movement. 

Torque is increased twice as much by changing the size of the pulley!

【The pulley on the Motor side】
Revolution:1

Torque:1

【The pulley on the Ball Screw Nut and the Ball Spline】
Revolution:1/2

Torque: x2 
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Miniature Ball Screw 
with Ball Spline （BSSP）


